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Flavius Gruian
Good picture, but I assume the 7 seg and input buttons are also connected via PLB to the Microblaze, right? Even Sound in is not connected via I2C to the Microblaze.
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y(n) =

M�1X

k=0

h(k) · x(n� k)

(42/2) · 2+ (12/2) · 4+ (15/5) · 20+ (15/5) · 100+ (4/2) · 200 = 826
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Flavius Gruian
This is a finely tuned solution, and you seem to have put a lot of thought into getting the right rates here.
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Flavius Gruian
Nice illustrative graph. Good job obtaining this from the simulation.
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Flavius Gruian
Nice comparison.
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SUM1

Delay

3000

Y = X + a · Y · z�1



1. 11101011 ! 00001110

2. 00001110 ! 11100000
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Flavius Gruian
Good visual explanation.
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Flavius Gruian
A nice concise but explanatory description of all the effects you implemented.
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Flavius Gruian
Nice description.



Flavius Gruian
Implementing echo in hardware would likely require more memory, right? In fact it would probably be ok to use slower off-chip memory.

Flavius Gruian
Nice with an online video.
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Flavius Gruian
A very nice project and good report. A few references here to various effects for instance would help. Otherwise not much to improve. Well done.


